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According to the reading, agnostic's extinction happened 450 million years ago. Agnostic was kind of an arthropod that spread in many areas of the world. The author describes three critical characteristics for them while the lecturer rejects all of them with strong reasons.
First, the text mentions agnostics were free-swimming predators that could hunt smaller organisms; However, the lecturer says a predator needs big and well-developed eyes or sensitive tactile organs. Scientists found their fossil remnant that their eyes were underdeveloped or wholly blind and no sensitive organ detected.
Secondly, the article notes that agnostics were sea dwellers and nourished from dead organisms and bacteria at the sea's bottom. Despite this, she posits that and says all sea dwellers are slow movers, they cannot spread in a large geographic area, but agnostics' fossils spread across large distances, unusual for sea dwellers.
Finally, the author mentions there is a chance that agnostics maybe were parasites so they could live and feed on larger animals, like flea, tick, and mite from the modern arthropods group. On the other hand, the lecturer rolled out this logic and said the parasitic population has to be limited in number; otherwise, they will kill the host; Surprisingly, scientists discovered many agnostic fossils in many areas, which reject the author's opinion.

